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. fg P(2,4,5) ¥ ToRe e Y@r 3R WRA 304 2] - 6k FHEIGR X@T LA

gfeer gHtwor AA1a Hifaw]

g (1,-3,2) ¥ Torer arelt 3R Ry 3eqarer (1,-2,3) arelt Y@ &1 |feer g@iewor
AT T

ar gt P (1, -5, 3) 3R Q 3,2, 7) ¥ Iera arelt Wl wer Y@r @ wfewr
gHtetor AT v

afy R A (1,-1,3) 3 BG,1.3) @& 5x+2y-7z+9-0 & FAW gt W & ar o &
AT AT HifAT]

2x -3y +5z=73HR x-2y+4z=128 1% @ & FAROT § | W@ F &
FHFoN F FART T & qRafda fifer 3k sahr Rer Fisar 79 fifsw
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SoT YWTHT gt o &1 FHHor off AT ffaw)



7. Wg (2-13) @ T arel AR Yt x-1_y-l_z+#l x-2 y+l_z+34
T ° 2 2 1 1 2 2

d9ad @1 FT FHFOT AT i)
8. X@Ir=(-y+3k) +A(51+55+k) & Rg P(1.8.4) & &g A gt 7 Hiforw

9. d¥ & [T L1 L2 3aF e afea NfSwl s o @it L1k L2 &
yfaeded 1 oad AT AfSw I} v @ F1 AR gHfAT T FA O3k
qEt 3@ AT W9 A @ @ A AT F Qe @ wEaey g

1 y-3
10. WHE 2x - Sy + 3z =11 3K Y@r XT:T:% ¥ fra &1 PTG PR



